2l A Ol & 7 =2
He =3 2 3 (
- = At oo 2 A H| JEH 2 A H| HnsE2
= Al 33,200,000 .00% 35,300,000 .00% 22,100,000
SE3 A 33,200,000 .00% 35,300,000 .00% 22,100,000
JIEtSE 3 A 33,200,000 .00% 35,300,000 .00% A 2,100,000
=EHINLSE A 6,300,000 .98% 6,294,000 .83% 6,000
2sdII=SEAA 2,547,000 .67% 2,517,000 . 13% 30,000
HASFUFNHFIISE 932,000 .81% 632,000 79% 300,000
3l A
FUASTAL HEHH D] 2,145,000 .46% 1,865,000 .28% 280,000
=SE3 A
ZII0IEHAIHE AL 83,000 .25% 300,000 .85% A 217,000
NEAAANEESA
SSNFAZLEALEZ A 2,584,000 .78% 2,739,000 .76% A 155,000
X=ASSE 3 A 17,400,000 A41% 19,390,000 .93% 21,990,000
JIBFAIE SE 3 15,000 .05% 575,000 .63% 560,000
FHNESZHNEMNSEES A 1,194,000 .60% 988,000 2.80% 206,000




